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CERTIFICATE IN WATER HARVESTING AND 
MANAGEMENT (CWHM) 

Term-End Examination 

December, 2018 
	 00744 

ONR-003 : WATER HARVESTING, 
CONSERVATION AND UTILIZATION 

Time : 3 hours 	 Maximum Marks : 75 

Note : (i) Attempt any five questions. 

(ii) All questions carry equal marks. 
(iii) Use of calculator is permitted. 

	

1. 	(a) Discuss the importance of water harvesting 	5 
for sustainability of crop production. 

(b) What is runoff coefficient and why it is 	5 
important in designing of water harvesting 
structures ? 

(c) Differentiate between contour bunding and 	5 
contour trenching. 

	

2. 	(a) What is contour vegetative barrier 	5 
technology ? 

(b) What is diversion bund ? Explain. 	5 
(c) Define rain water harvesting and write its 	5 

advantages. 

	

3. 	(a) How do you calculate the size of a water 	5 
storage tank for rural areas ? Explain. 

(b) What is water conveyance efficiency ? 	5 
(c) Calculate the water conveyance efficiency 	5 

if discharge of 110 litres per second from 
the source was released and 71.5 litres per 
second was delivered to the field. 
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What is artificial ground water recharge ? 
List the different methods suitable for 
artificial ground water recharge in rural 
areas and explain any one. 	 2+3+3=8 
Describe the different methods of irrigation. 
List the advantages and limitations of furrow 
method of irrigation. 	 2+5=7 

	

5. 	(a) What is irrigation scheduling ? Write its 
advantages. 	 2+3=5 

(b) List the various recommended rainwater 	5 
harvesting structures used in Humid North 
Western Himalayas and Himalayan foot 
hills. 

(c) Discuss the design considerations for 	5 
artificial ground water recharge. 

	

6. 	(a) A Farmer has to apply 8 cm irrigation to 	8 
20 ha area to meet the water requirement 
at tillering stage of wheat crop. He has 
30 cows and 25 buffaloes also. Calculate 
the gross storage capacity of a water storage 
pond for applying irrigation and meeting 
30 days water requirement of the animals. 
Assume water requirement of cow and 
buffaloes are 70 and 60 liters/day, 
respectively. 

(b) What is water conservation and why it is 
important in present scenario ? 	3+4=7 

	

7. 	(a) Discuss the importance of efficient and 	5 
innovative water use strategies. 

(b) What is excavated ponds ? 	 5 
(c) Define uniformity coefficient. Write 

Christiansen equation used for its 
calculation. 	 2+3=5 
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8. 	(a) What are the different factors affecting 	5 
water use efficiency ? 

(b) Write short notes on any five of the 
following : 	 5x2=10 
(i) Permeability 

(ii) Homogenous soil 

(iii) Irrigation Intensity 

(iv) Storage tank 

(v) Free Board 

(vi) Contour 

(vii) Water distribution efficiency 
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5 
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8. 	(a) Ac4 7c +T 	 3141Tr7d ctA4 	 5 

chitch ch -1—tf 

(b)  	ctvt TIN Icr{ 	ti 

tfUR : 	 5x2=10 

(i) 4104-tidi 

(ii) +14-1141 9T 
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(iv) %ft7crf 

(v) al b 
(vi) chV 
(vii) fd717 A-TaT 
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